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1. ZREA R R
3T H i (umol/g Fi)=(C FrifExV2) x(A MIE-A 7 H)+A ifE-A 2 H)+(WxV1+V) xD
=4x(A M5E-A 75 F)+A FaifE-A 25 ) +WxD
3-WEE H I (ng/g B H)=(C ArdExV2) x(A ME-A 7 H (A drdE-A T EH)=(WxV1+V) xD
=864.16%(A MIE-A =5 H)+(A brfE-A = H) +WxD
2. FA R
3-T R H I (nmol/10% cell)=(C FRifExV2) x(A MIZE-A T H)+(A FrifE-A 2 H)+(500xV1+V) xD
=4x(A M5E-A 25 H)+(A FRifE-A 25 () +500xD
3-TATR H M (ng/10% cell)=(C FRifExV2) x(A MIFE-A 7 H)+(A FRifE-A 7 H)+(500xV1+V) xD
=864.16%(A M E-A 2 F)+(A FrfE-A 25 ) +500xD
3y WRARA A S
3B R H ¥ (mmol/L)=(C FrifEXV2) x(A M E-A = H)+(A brifE-A = H)+VIxD
=4x(A ME-A 25 [)+(A FrifE-A 25 [H) xD
3B H I (ng/mL)=(C FrifExV2) x(A MIE-A 25 H)+(A afE-A X H)+VIxD
=864.16x(A MIE-A 7 H)+A trifE-A 25 H) xD

C FpifE---4mmol/L=4pmol/mL=864.16ug/mL; V--- 2B AAFR, ImL;

VI1---FEA IR, 0.01mL; V2---FriE MR, 0.01mL;
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W PEARRRE LR, g.




